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PART - A

FILL IN THE BLANKS

Directions : In this section, each of the following sentences has a blank space and is
followed by four words. Select the word you consider most appropriate to fill in the blank
space and indicate your response on the Answer Sheet accordingly.

. As the Southwest monsoon

through most of July, flash floods
caused by the waters of the Narmada
hit Jabalpur town.

(a) lashed
(b) flourished
(c) occupied
(d) dried

. Given the scale of the challenges that

us today, our company
proposes more viable plans for
sustainability.
(a) supports
(b) conflict g%Q
(c) confronts &
(d) convince Q\Q%

N\

. It is a really tcﬁg’n course, I am just
worried that I won’t be able to go the

(a) way
(b) distance
(c) far

(d) route

. The —____ of the advancement
made in agricultural productivity in
India has been remarkable.

(a) extent

(b) context

(c) distance

(d) syntax

DFTK-F-TAG - A

5. This essay

. Adolescence is the

and examines
various systems for water appropria-
tion and agricultural practices adapted
by society in the arid conditions of
Rajasthan.

(a) confuses
(b) enhances
(c) controls
(d) explores

. India has been able to successfully

its population through
family planning programmes.
(a) sterilise
(b) stabilise
(c) stratify
(d) establish

wherein a child enters adulthood.
(a) threshold

(b) position

(c) condition

(d) period

. The British who ruled India for

200 years were here to
India’s natural resources.

(a) spoil
(b) implore
(c) exploit
(d) drill
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9. Endangered species have a fifty per 10. The first law of thermodynamics

11.

12.

13.

14.

15.

cent or greater probability of states that whereas energy can be
within five years or two from one form into

generations whichever is longer. another, it cannot be created or
(a) distinction destroyed.
(b) extinction (8) -redices

e (b) induced
(c) complication (c) performed
(d) completion (d) transformed

SPOTTING ERRORS

Directions : Each item in this section has a sentence with three underlined parts labelled
(a), (b) and (c). Read each sentence to find out whether there is any error in any
underlined part and indicate your response in the Answer Sheet against the corresponding
letter, i.e., (a) or (b) or (c). If you find no error, your response should be indicated as (d).

Bread, butterand  jam common breakfast items
(a) (b)
that are consumed by many households. No error
(c) (d)
Ten thousand dollars is th@&e money being offered
@) D (®)
by the game show hesté)> No error
0 & @
Three hundred and sixty five = create up the number of days
(a) (b)
in a calendar year. No error
(c) (d
The process of removing  wool from the body of
(a) (b)

an animal is called sharing. No error

© @

Many people came from faraway places to prayed

(2) (b)

at the temple on the auspicious day. No error

(©) (@

3 A — DFTK-F-TAG
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16.

17.

18.

19.

20.

21.

After reading foreword of  the book on environmental issues in India,
(a) (b)
I decided to meet its author. No error

(©) (d)

The guidance from the mentors  and teachers facilitated the
(a) (b)
smooth conduct of elections to the Students’ council. No error
(© (d)
The Principal of our school felicitated the students in
(a) (b)

the prize distribution ceremony. No error

(© (d)

If youwereto come to Chennai to settle down
(a) (b)
it will be the best possible decision. No error
(© & (@

They had promised to del&é@d the bags before mid-March
@ ¥ (b)

%
to enable us to inat te theshop. No error
Nl @

SYNONYMS

Directions : Each item in this section consists of a sentence with an underlined word
followed by four words. Select the option that is nearest in meaning to the underlined
word and mark your response in your Answer Sheet accordingly.

He is always captious. 22. Geomorphologists ascertain several
wonderful facts about our earth.

(a) verify
(b) invert

(a) worried
(b) passionate
(c) faultfinding (c) increase

(d) jovial (d) omit

DFTK-F-TAG - A 4
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23.

25.

26.

31.

The Colonel ordered the Soldiers to
meet him in the commissary.

(a) office

(b) field

(c) playground

(d) canteen

. The doctor dismembered the patient’s

finger first and then cured the ailment.
(a) stitched

(b) dissected

(c) plastered

(d) splintered

Mr. Kumar works as a bursar in the
sports academy.

(a) secretary

(b) accountant

(c) coach

(d) trainer

His intentions are insidious. ®

i QO
(a) pious g\

(b) inadvertent (§)
(c) deceitful Q\Q
(d) naive N\

$

27.

28.

29.

30.

Respect for other human beings is
intrinsic to the teachings of all
religions.

(a) inconsistent

(b) peripheral

(c) inherent

(d) existential

He completed the onerous task with
relative ease.

(a) smooth

(b) complex

(c) risky

(d) wearying

Alfred was a potentate during the
Middle Ages.

(a) . Monarch

(b) lenient

(¢) liberal

(d) democrat

I abandoned the task due to indolence.
(a) difficulty

(b) laziness

(c) ugliness

(d) helplessness

USAGE OF PAIRED WORDS

Directions : In the following questions a pair of similar sounding words is provided. You
are required to select the options that most appropriately describes the meaning of both
the words and mark your response in the Answer Sheet accordingly.

‘Principal’ and ‘Principle’

(a) ‘Principal’ means belief system,
and ‘principle’ means head of an
educational institution

(b) ‘Principal’ means head of an edu-
cational institution, and ‘principle’
means original sum on which
interest is charged

(c) “Principle’ means moral rule, and
‘principal’ means head of an
educational institution.

(d) ‘Principal’ means original sum
on which interest is charged, and
‘principle’ means head of an
educational institution.

A - DFTK-F-TAG
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32.

33.

34.

‘Plane’ and ‘Plain’

(a) ‘Plane’ means a flat surface, and
‘plain’ means something that flies.

(b) ‘Plane’ means the flat surface, and
‘plain’ means not elaborate.

(c) ‘Plane’ means something that
flies, and ‘plain’ means flat sur-
face.

(d) ‘Plane’ means not elaborate, and
‘plain’ means flat surface.

‘Pail’ and ‘Pale’

(a) ‘Pale’ means inferior or unim-
pressive, and ‘pail’ means faded.

(b) ‘Pale’ means faded or @t in
shade, and ‘pail’ m ior or
%‘2’

unimpressive.
m«m&@eﬂ or light in

(c) ‘Pale’
shade, means a bucket.

(d) ‘Pale’ means a bucket, and ‘pail’
means inferior or unimpressive.

‘Metal’ and ‘Mettle’

(a) ‘Metal’ is a hard shiny material
that is a good conductor, and
‘mettle’ means malleable metal.

(b) ‘Metal’ is a hard shiny material
that is a good conductor, and
‘mettle’ means metallic sub-
stance.

DFTK-F-TAG - A
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35.

36.

(©

(d)

‘Metal’ means mental resilience,
and ‘mettle’ is a hard shiny
material that is a good conductor.

‘Metal’ is a hard shiny material that
is a good conductor, and ‘mettle’
means mental resilience.

‘Hail’ and ‘Hale’

(2)

(®)

©

(d)

‘Hail’ means pellets of frozen rain,
and ‘hale’ means wind storm

‘Hail’ means pellets of frozen rain,
and ‘hale’ means strong and
healthy

‘Hail’ means pellets of frozen rain,
and ‘hale’ means to greet with
enthusiastic approval

‘Hail’ means strong and healthy,
and ‘hale’ means pellets of frozen
rain

‘Conscious’ and ‘Conscience’

(a)

(b)

(d)

‘Conscious’ means sense of right
and wrong, and ‘conscience’
means awareness about something

‘Conscious’ means alert, and
‘conscience’ means presence of
mind
‘Conscious’ means intent, and
‘conscience’ means unprincipled
action

‘Conscious’ means aware, and
‘conscience’ means sense of right
and wrong
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37. ‘Dissent’ and ‘Descent’

38.

(a)

(b)

(©)

(d)

‘Devise’ and ‘Device’ (§:

(@)

()

(©

(@

‘Dissent’ means having ideas
different from general beliefs or
official position, and ‘descent’
means movement towards a lower
place

‘Dissent’ means having ideas
different from general beliefs
or official position, and ‘descent’
means being of acceptable stand-
ard

‘Dissent’” means being of ac-
ceptable standard, and ‘descent’
means movement towards a
lower place

‘Dissent’” means being of ac-
ceptable standard, and ‘descent’
means ideas different from gen-
eral beliefs or official positi

S

‘Device’ means'to determine, and
‘devise’ m a piece of equip-
ment meant for accomplishing a
specific task.

‘Device’ means finding a new way
to do something, and ‘devise’
means to determine

‘Device’ means a piece of equip-
ment meant for accomplishing a
specific task, and ‘devise’ means
finding a new way to do something

‘Device’ means finding a new way
to do something, and ‘devise’
means a piece of equipment meant
for accomplishing a specific task.

39. ‘Discrete’ and ‘Discreet’

40.

(a)

(b)

©

(d)

‘Discrete’ means separate and
distinct categories of objects, and
‘discreet’ means misuse of autho-

nty

‘Discrete’ means separate and
distinct categories of objects, and
‘discreet’ means maintaining con-
fidentiality

‘Discrete’ means being careful in
what one says or does, and
‘discreet’ means separate and
distinct categories of objects

‘Discrete’ means misuse of autho-
rity and ‘discreet’ means being
careful in what one says or does

‘Eminent’ and ‘Imminent’

()

(b)

(©)

d

‘Eminent’ means important and
famous, and ‘imminent’ means
something about to happen

‘Eminent’ means something un-
pleasant about to happen, and
‘imminent’ means important and
famous person

‘Eminent’ means important -and
famous person, and ‘imminent’
means inherent or existing within

‘Eminent’ means inherent or
existing within, and ‘imminent’
means something about to happen

A — DFTK-F-TAG
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ANTONYMS

Directions : Each item in this section consists of a sentence with an underlined word
followed by four words. Select the option that is opposite in meaning to the underlined
word and mark your response in your Answer Sheet accordingly.

41. Many metals are malleable in nature (c) gaudy
and pro ;
@ l:la::ﬂy (d) apparent
a
(b) strong 44. The experience of Covid Pandemic
() tender was excruciating for much of the
population.
(d) weak
(a) gnawing
42, ;‘:nglzglect a waming is to invite (b) gruelling
(a) disregard (c). harrowing
(b) ignore (d) mild
(c) regard : <, :
@ R 45.- A trip to the hills was refreshing.
overloo e e
sQ\Q& (a) conniving
43. i—lis ostentatious behav(ib.&@ surprised {B) eeatiing
Veryone. NS )
(@) tawdry @QQ (c) revivifying
(b) modest (d) rejuvenating
COMPREHENSION

Directions : Carefully read the given passagé and answer the questions that follow. You
are required to select your answers solely based on the contents of the passage and the
opinion of the author only.

Passage

People by and large are concerned with and pursue self-interest. They are unlikely to be
motivated to use renewable resources in a prudent and sustainable fashion. They are
unlikely to be motivated under the following conditions : if their resource catchments are
vast, so that degradation of any particular portion affects them very little; or if they have
open before them possibilities of substitution as any one resource element is depleted; or

DFTK-F-TAG - A 8

- Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

if their control over the resource base is tenuous, so that others may, at any time, deplete
a resource they value, even if they use it in a restrained fashion. Indeed, exhaustive use
is highly likely when any one of these three conditions obtains. It is only when people
perceive their resource catchments as limited, possibilities of substitution of exhausted
resource elements as not readily feasible, and their own control over the resource base as
secure, will they be motivated to use the resources in a prudent fashion. People, rooted
in a locality, and retaining control over their resource base are most likely to fulfil all three
prerequisites for sustainable resource use; and therefore to behave in ways conducive to
the conservation of biodiversity within their localities.

46. Why, according to the writer can’t 48. The self-interest of people affects the
people be motivated to use a resource use of renewable resources
prudently ?
(a) positively
1. They feel that others may overuse
vk (b) ermatically
2. It is possible to substitute the _
resource (¢) affirmatively
3. Abundance of the resource (d) indifferently

availability
Select the correct answe@sing the 49. People rooted in a locality
code given below : gQ\

(a) 1 only Q(b&) (a) cause harm to available resources

(b) 2 only QQQ (b) generate resources

(c) 2 and 3 only (c) believe in conservation and re-

(d 1,2 and 3 production of resources

47. When do peéople use resources (d) consume resources freely
exhaustively ? '

(2) When the substitution of resource 50. Which among the following is closest

is felicitated by NGOs in meaning with the word ‘deplete’ ?
(b) When the resource is about to (a) exhaust
expand

(c) When the resources use has little (b) complete

i t
ke (c) replete
(d) When they desire desperately for

sustainable development (d) desperate
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54.

5S.

56.

(@ 1-0A

(b) 05A

(c) 027 A

d 07A

forett o et a1 Tt sreae T
@ s @ 2

(a) QG

(b) ETEEH

c) Frrim

(d) T

Ty 15 meeht & 3k s oo wRif
@ & fog <R W) o guas ofor &
A @S | EHGe g9 R e
SeTE A el =ifeq aifen wiar s
oot wfafem 3@ &2

(a) 050 m

(b) 035 m

(c) 075 m

d) 025m

Tea oo | R fradt 9ot wa
fofie =& @ s @ m § = f
fafr g 2

(a) Aforgw
() Ufrfram
c) =

(d) TR
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52.

53.

PART - B

51. The streaming of light beams coming
from the Sun through trees is said to
have suggested that light travels in
straight line. The particles on the path
of light beams are visible to us because

(a) dust particles in the air reflect
light into our eyes

()
light into our eyes

(c) dust particles in the air refract

light into our eyes

(d) dust particles in the air polarize

light into our eyes

The flash of lightning is seen before
the thunderstorm is heard. I&@sriﬁes

that 6&\

')
@ faster than
Q
2

much faster than

(a) sound travels
- light

light trave
sound

(b)

(c) light and sound both travel with

same speed

intensity of flash of lightning is
very high during thunderstorm

(d)

The potential difference between the
two end terminals of an electric heater
is 220 V and the current through it is
0-5 A. What would be the current
through the heater if the potential
difference across the terminals of the
heater is reduced to 120V ?

dust particles in the air scatter

11

55.

56.

@ 1:0A
(®) 05 A
€ 027A
@ 07A

. The heating element in an electric iron

is usually made of :
(a) Constantan

(b) Tungsten

(¢) Nichrome

(d) Copper

Sita, 1-5 m high, stands before a plane
mirror fixed on a wall to view her full
image. What should be the minimum
height of the plane mirror so that Sita
can view her image fully ?

(@) 0-50 m
(b) 035 m
(¢) 075 m
(d) 025 m

Galvanization is a method of
protecting iron from rusting by coating
with a thin layer of

(a) Gallium |
(b) Aluminum
(c) Zinc

(d) Silver

A - DFTK-F-TAG
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@ afifen S e # el @
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| LUl
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87.

58.

59.

Which one of the following alloys
contains a non-metal as one of its
constituent ?

(a) Brass
(b) Bronze
(c) Amalgam
(d) Steel
Buckminster fullerene, which looks
like a football, is an allotropic form of
(a) Phosphorus

(b) Sulfur

(c) Carbon

(d) Tin

Which one of the followin,
correctly represents the ¢

voltage (V) variation fi
piece of a semiconK

Q
S

aphs
t (I) -
tangular
wafer 7

(@)

(b)

\

13

61.

© g

(d)

A&

0 v

The green plants in a terrestrial eco-
system absorbs sunlight that falls on
their leaves and convert it into food
energy. The percentage of solar radia-
tion absorbed by all green plants for
the process of photosynthesis is about

(@ 1%
(b) 5%
(c) 8%
(d) 10%

Consider the following reaction :
Fe,04(s) + 2Al(s) — 2Fe(s) + Al,O5(s)

Which of the following statements
about the given reaction is NOT
correct ?

(a) It is an example of displacement
reaction ;

(b) It is highly endothermic reaction
(c) Fe,0; acts as oxidizing agent

(d) This reaction is applicable to
joining of railway tracks
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64. Frfofea # ¥ F-dt ag erEom
M g A & fog dfiew w@ &
arftrforar wef et & 2
(a) wrefimm
(b) #E
(c) Hfmaw
(d) wifeaw

65. frmafafea sifufsra w fmr Hift .

2Hgo-—L>2Hg+o2

Swdeh sifufsrar # Hgo, Hg 3k 0,
wie e .

(a) &4, o, 4

(b). 3, 34, i

(c). 5, 34, 5&

(d) 3w, 59, W

66. 354 Sfat # dfie s A D wEegf
oy @A-d@t € St wafy A
Frafye fafaear S ot § 2
(a) AR 3k fadsm
() frafea sk ftsm

- (o) weifaE iRk fegen
(d) Frfem sk wgwm

67. Mafafeat $t gam # gHfafes
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(a) wifrer fifs

(b) Sfreager firesht

() fFr s

(d) T wiorewr (ATserenigan)
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62.

63.

()

Match List I with List I and select the
correct answer using the code given
below the Lists :

List I List II
(Chemical (Reaction)
process)
A. Electrolysis 1. Double dis-
of water placement
reaction
B. Burning
of coal 2. Combination
reaction
il }ron nail ‘ R
gty tion :;:tion
copper sulphate
solution 4. Displacement
reaction
D. Addition of

barium chloride
solution to alu-
" minium sulphate

soluti
Cod. “ . §S\®®
ode : &

V. e Q\ D
(@) 3 §@$ 2 1
® 4 2 1 3
{¢) 3 4 4 1
@a 4 1 P 3

Which one of the following processes
involves chemical reaction ?

(a)
(b)
O

Evaporation of petrol
Dissolution of salt in water

Storing of oxygen gas under
pressure in a gas cylinder

Burning of magnesium ribbon in
air

15
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65.

66.

67.

Which one of the following metals
does NOT react with cold water to
liberate hydrogen gas ?

(a) Potassium
(b) Iron

(c) Calcium

(d) Sodium

Consider the following reaction :

2HgO LN 2Hg+ 0,

The respective state of HgO, Hg and
O, in the above reaction is

(a) Liquid, solid, gas

(b) Solid, solid, gas

(c) Liquid, solid, liquid

(d) Solid, liquid, gas

The two important features of sexual

reproduction in higher organisms that
create genetic diversity in offspring are

(a) Mitosis and fertilization

(b) Meiosis and fertilization

(c) Mitosis and binary fission

(d) Meiosis and conjugation
Eukaryotic cells are much more
complex as compared to. prokaryotes.
Which one of the following structures

is exclusively present in a eukaryotic
cell ?

(a) Cell wall

(b) Plasma membrane
(c) Nucleic acid

(d) Mitochondria

A — DFTK-F-TAG
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68.

69.

) T THE HE HHE

70.

1.

SFRIRGH Feldiad Je~ G- a1 &4
H T AU HRUT FA9H G Ieqw
TR & WIRT g &l gag ) faus s
N m%lﬁﬂ%%wm
I H ® ?

(a) W

(b) Uehlet

(c) &R

(d) TTEHIsS ITFA

#, WA & G F o
UGS SR BId € | T FEE R
frafafaa # @ e9-w =@ 5 smar
g7
(a) QA IS U S SINTH & 614
Tufea (foem) & sma €
(b) 2T gwe e sie Ffirwst &
|1 G B W §
(c) Th TW&F T HNH & wA
wafo & T ® R gERr s
Jugrfta & war ®
5 g

ﬁgﬁﬁ

B/

wﬁam%
R
fireht St e Rt A S, S
IR wafa AT & fog Fafafea & 3
HI-91 H91 SIGH € 7 _
(a) TR N FE wedt @ e
ST v e
®) gwegﬂ"r Eﬁ@ﬁﬂéT IR SuAT 3,
() gwﬁiﬁma&ﬁ%ﬁﬁm
iy TR e ®
(@) TrEt fi wEm AR 'élm 3T,
QT Hed §

ferelt qou 3R wy-wadt & i o Hay,
e # forees forg /forest wemas m 2
(a) gﬁﬁﬁﬂ'ﬂ

(b) T

DFTK-F-TAG - A
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(c) T & R AT
(d) IR # gfg

72. frafafea # @ 98 - s Ofa =&t

7 A

74.

? o weie wRa & Ton 9= w@W

WIH R & fo vame a)a ¥ 2

(a) fafirm SEt-Saamett & w9 g

(b) =I-aGt SUTRET TR0 AT

(c) =9 &R TR

(d) Wi ® fasm ww A 3R s
g ¥ oo s

wfth stiaem & sk 7 f=fafaa st
¥ HH-|1 FE qE € ?

(a) WRE AEEH ST R & T @
Srffem A sgarm a
(b) SR WRA #, iE Qe & &g §
TH 3R 7 h AT A
(c) wfF IR IR Hi "he W
‘g @1, W 9% WO W q

ferafor

(d) e geieE 3 aqor wite waw &
wisfafrea forar, at sk 3 fjor
wieh & 7Rt & AgERw o

FifEd wa § aw w fE a Y

forery waiftm @ 2

(a) shifaeTial & 96 @9 §, S wid
H 9T TR o I SN By SR
A o forg wRT SR W @ A

(b) TF FA A/, S wfd F AR oA
I | R gfed AR @ At

(c) SHifet <@g &, S ET &
T A T AR R GEHGAT 9l T8
I R T R M R w@ o

(@) T w RR Fom F9 & 915 @
H A AGTEAT T ATl T

Eak

i il |
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68.

69.

70.

71.

An important cause of tooth decay
by the bacterium Streptococcus mutans
is because of their ability to attach to
teeth surface by producing slime layer
from

(a) Sugar

(b) Alcohol

(c) Saliva

(d) Teichoic acid

In angiosperms, pollen grain germi-

nates to produce two male gametes.

Which one of the following functions

is carried out by these gametes ?

() Both the gametes fuse with a
single egg cell

(b) Both the gametes fuse with two
different egg cells

One gamete fuses with the egg
cell and the other one eventually
degenerate
One gamete fuses with dhe egg
cell and the other on s with.a
diploid secondary us

&

In a sexually cing -organism,
which one of lowing statements
is appropriate both for the parent and
offspring ?

(a) Chromosome number increases
but DNA content remains constant
Both chromosome number and
DNA content remains constant

©

@

(b)

Chromosome number decreases
but DNA content remains constant
Both chromosome number and
DNA content decreases

(©
(d)

Relationship between a flower and

honey-bee will help the flower for/in
(a) Faster development
(b) Pollination

17

72.

73.

74.

(c) Quick germination of pollen
(d) Increase in size '

Which one of the following was NOT
a way in which kings in ancient India
attempted to claim a higher status ?
(a) Identifying with a variety of
deities

Assuming pompous titles
Imposing high taxes

Conquests and annexation of terri-
tories

(b)
©
(d)

‘Which one of the following statements

about the Bhakti. movement is NOT
correct ?

(a) The Bhakti movement avoided
traditions that promoted diversity
In northern India, the Bhakti
movement revolved around the
worship of Rama and Krishna
The Bhakti movement relied on
the devotion of God, both with
and without attributes

While Tulsidas represented the
tradition of devotion with attri-
butes, Sant Kabir followed the.
path of devotion without attributes

(b)

(©)

(d)

The ‘Reign of Terror’ in revolutionary
France referred to

(a) Bands of revolutionaries moving
around to terrorise people who did
not participate in the revolution
The royal forces punishing people
who participated in the revolution
Trial and beheading persons
considered enemies of the republic
by the revolutionary tribunal

The general atmosphere of
insecurity perceived by people
after the beheading of the king

(b)
(©

(d

A — DFTK-F-TAG

Download all NOTES and PAPERS at StudentSuvidha.com


http://studentsuvidha.com/
http://studentsuvidha.com/

75. 9 Ry fowm gg w1 wwm
Frafefaa & & e =9 F =i wer 2
(a) ¥® WMGRI % HEIG & SeRi @
HETG & a1

) &= @t gEhEe ) w
fafefomat &t g & S w=mw
fear

(c) worafea (FFER) aAEY, W
ot 5w wwdq = 8 T S e
2 ¥ sifere # g o

(@) STHE # e wE A SR
wfreR ew & ot

76. .. 9Ra # WS wEw f deE
iy sdd s 2. — g fege
Heheq 47 ?

(a) AN HiQreA
(b) ¥RA BIFT HAreH
© = s (&
(d) aﬁmmm§®

- 77.@3@%%1@\%&:3@?1%

-'HTH@T
(a) <erfeen r—h'sm
(b) TR Toren
(c) wefir GIED
@) Foq@ CIES 1T
78. freafafea # & Fw-d, wra # @y

TE & A & ferg wmawer 3 (Ffe)
27
(a) "R
(b) fiefaw
(c) Trefum
(@) fuefiefiex
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Download all NOTES and PAPERS at StudentSuvidha.com

79. i shrera § RAfm wER
fremst 9 amg @ fakw =@ F fe
frafafes & ¥ wefmaw  wees
HE-|1 & ?

(a) T
(b) HEFSIET
(c) gt
(d) it

80. et wiriferes fire & -

1. ey i fafga @ & forg & #
94 ¥ ufeem & iR 9=t € @
Bl ®

2. JR qui & forg Sem A <o

R T e 9 Sfft ga e dis
RER ARG R

ST FaE § ¥ BE-E1 /-0 w8
R/2?

(a) ae 1

(b) e 2

(¢) 1323t

@ a1, A2

81. argvee & fafofea # ¥ frm = &
s it gt gigeare ufea gt € 2
(a) 9=q HeA
(b) &@W Hew
(c) =Te aTgwed
(d) HHAY Hed

82. frafifer & & frm o & ‘ewge’
e fRa § 7
(a) A
(b) #OTgR
(c) Team=er wew

(d) STRIEE
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75. In which one of the following ways did

76.

7.

78.

the First
Europe ?

World War Not impact

(a) From a continent of creditors it
turned into a continent of debtors

Soldiers came to be placed higher
in social status than civilians

()

(¢) Popular support decreased for
conservative dictatorship which
had come into being recently

(d) National honour occupied centre
stage in the public sphere

«_..the immediate ending of British rule
in India is an urgent necessity...” was a
resolution of

(a) Non Co-operation Movement
(b) Quit India Movement
(c) Individual Movement

(d) Civil Disobedience M@ent

Which one among theggllowmg pairs

of mine and min NOT correctly
matched ? @

(2) Bailadila Iron Ore

(b) Zawar Zinc

(c) Ghatsila Copper

(d) Kudremukh Bauxite

Which one of the following is the usual

unit of measurement for Air Pressure
used in India ?

(a) Centimeter
(b) Milibar
(c) Milligram
(d) Milliliter

19

79.

80.

81.

82.

Which one of the following is the
oldest era in Geological History deter-
mining the age of various rock types ?

(a) Precambrian
(b) Mesozoic
(c) Cenozoic
(d) Paleozoic

A geographical grid has :

1. Lines that run east to west around
the globe to mark latitude

2. Lines that run north to south from
north pole to south pole indicate
longitude

Which of the statements given above
is/are correct ?

(a) '1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

In which one of the following layers

of the atmosphere all weather pheno-

menon occur ?

(a) Mesosphere

(b) Troposphere

(c) Thermosphere

(d) Stratosphere

In which one of the following states
‘Roopkund’ lake is located ?
(a) Kerala

(b) Manipur

(c) Himachal Pradesh

(d) Uttarakhand
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83.TH YAl HR & YGHMT UBSAH

85.

86.

(ertex Gfén) & ot g & ARW
# 2000 km 3R 8 9 & =g AT i
Iy 9% @@ it T e 2400 km e
IRAT § | FR A e g T g ?
(a) 50 km/h

(b) 60 km/h

(c) 70 km/h

(d) 80 km/h

LG T F AC SRR (SifE) @

DC 9ReX # wgan & faofa adt © 1

S8 frafafea # & fraer s =@

& AraFEHar srlt ?

(@ T& fawh-ae@  WER W@
wafafems (Rae-Ra omw
FHEXR)

(b) | FoF AR W

(c) T Ve qaehig &%
(d) TF AFAHR TR oG9

T 2m A Tl T B WY

Hﬁﬁﬁm%lﬁﬁﬁw&%ﬂ

T R T AT A T

AT ® ? Q\Q

(@ +05D @$

(b) -05D

) +02D

@ -02D

Foreft o= & g vy ik wfreear

& ar ¥ frafafea § @ @9-8 =9

T ? ‘

1. QF 9fAr AR % SATRT FE &
gk W R R €

2. 3t AT W) sk B #
3. aR & vy R 6t wfeigesar &

AT BT ©
4. IR H wfduswar aR i FaE &

EREIGRICIR TN
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87.

88.

89.

d fou T R W oW W Ed@ SW
g ;

(@) 13R2

(b) 133

(c) 23R3

(d) 23R4

Tt 5o =t ww Tifvva qomm o W

forn s @ | Freafofee & ¥ -

faufa ga & Seem & g Belt ?

(a) 99 AGASHE G AT T &
SR B 4T ©

(b) & AFHEHA JE AT T X FH
& St § |

(c) el ATgHSEAId g AT T § Io
® ST ®

(d) ¥& A% T G [ H WK W
AT ®

frafafes # & sl-w1 = FEf
Aifireh o1 IgTewr WEF § ?

(a) sEifaw wEAe

() T e (i )

() gfea

@ =g W

TR GRT | 3R et <t Fegalt @t
% A & fog Freafafea § @ o
I T I9ANT TR ST § 7

(2) HEHIR I

(b) e s

(c) TR I

(d) wITHITEE et
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83.

85.

86.

Ram records the odometer readings of
his car for the distance covered from
2000 km at the start of his journey
and 2400 km at the end of the journey
after 8 hours. What is the average
speed of the car ?

(a) 50 km/h

(b) 60 km/h

(c) 70 km/h

(d) 80 km/h

Ms. Rani decides to convert her AC
generator into a DC generator. Which
one of the following she would need
to use ?

(a) A split-ring type commutator
(b) Slip rings and brushes

(c) A stronger magnetic field
(d) A rectangular wire loop

Ramesh cannot see distinctly objects
kept beyond 2 m. This de an be
corrected by using a lens ower
(@ +05D S

N
(b) -05D $Q
(© +02D P
(d -02D

Which of the following statements are
correct about the electrical resistance
and resistivity of a wire ?
1. Both quantities depend on the area
of cross-section of the wire

2. Both depend on the temperature

3. Resistance of the wire is directly
proportional to the resistivity of
the wire

4. Resistivity of the wire is directly
proportional to the length of the
wire

Select the correct answer using the
code given below :

(@) 1and?2
(b) 1 and 3
(c) 2and3
(d) 2and 4
A liquid is heated up to a certain
temperature. Which one of the

following situation would correspond
to the boiling of the liquid ?

(a) When atmospheric pressure be-
comes equal to the vapour
pressure

(b) When atmospheric pressure be-
comes less than vapour pressure

(c) When atmospheric pressure be-
comes higher than the vapour
pressure

(d) When vapour pressure becomes
equal to the air pressure

Which one of the following is NOT

- an example of organic compound ?

(a) Ammonium cyanate

- (b) Marsh gas

89.

(¢) Urea
(d) Cane sugar
Which one of the following acid is

used by goldsmith for cleaning of gold
and silver articles ?

(a) Sulphuric acid
(b) Nitric acid

(¢) Hydrochloric acid
(d) Phosphoric acid
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90. T R foera STy s & 7
(a) g—ma@?‘m%nﬁma@m
%, '
(b) AT e forerm it e # wgw
ST R; S A i ey W
i gy wwar ®
(c) wEATa @ forema @ e 3 =g
1 ®; S vdAE A
&t gf awar @
(@) v fadom firn & qrr forema
o fRffm s T @

91. Frafofgs & ¥ F-@f ag R
TETT T ATGESF ek TEl & 7

(a) @I%
(b) freret
(c) wifiEm
@ fe
92.@13%@11%@%3%@?
T & A oy 1Y e wmpm W
T 1 Q\Q%'IE'?II
(ufim@@ (T
Tattr)
A.THRH 3R 51, aufaEd
w1 % oo (FrHASITEY)
F ggFER :
B. 9l 3R S 2. srwehgur
IS F IS
o | 3. AHEH
JAFH
CEARAH 4 Y9FRI Hiq
GEFR (FeT)
D. 9TeY 9REd ¥
s (fmie)
T JHFR
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(a)
(®)
(©)
(d)

93. werty wyerww & forg feefofea & @
feraefit sTavgear At ® 7
(a) FERIHe
(b) CO,
(c) i«
(d O, '
94, gediTGal #, S 9IqY @ ST Y
forareh R StmET & St @ 2
(a). S5 &1 GO
(b). S & T
(¢) YS9 i HT T
(d) SRRT ST
95. gl # ofim s ¥ km
- Frafafes # & F9-w adt s & 2
(a) 3T — TS — YU — WS
(b) HIT —> 3T — AT — s
(c) 3BT — YU — AT — Wi
(d) =T — ST - TIAT - F0
96. frafafas & ¥ wemmelt =1 @-ar
A geaTeal S & SR & |el
F5H ot Frefug e € 2
(a) S8 - %el; 3T — JO;
TS — d97; AW — JeT
(b) T I=TA; ISR — Fel;
iTE — Fws; gEst — oS
(c) AT - FdA; TIAS — IHET;
O —> Slig; A - HA
(d) 31.'51—)3"11?{; IS — YT
Ao — di9;  SENd —

AW R WR
- b NN
HM.—-.’:.O

un—-m._-u
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90.

91.

92.

What is the action of litmus on
ethanol ?

(a) Litmus is neutral towards ethanol

(b) Ethanol turns blue litmus to red;
confirming acidic nature of
ethanol

(c) Ethanol turns red litmus to blue;
confirming basic nature of ethanol

(d) Ethanol  decolorizes
through bleaching action

litmus

Which one of the following metal
is NOT an essential component in
stainless steel ?

(a) Iron
(b) Nickel
(¢) Chromium
(d) Tin
$
Match List I with List H@ select the
correct answer using?} code- given
below the Lists : Q\Q
List IRPO List II
(Process) (Separation
method)
A. Separation of 1. Chromato-
acetone and water graphy
from their mixture
2. Centrifu-
B. Separation of water  gation

and kerosene oil
from their mixture 3. Distilla-

C. Separation of et
cream from milk 4. Sepa-
A rating
D. Sf.aparatlon of Futinel
pigments from
plant extract

93.

94.

95.

96.

Code :
A B €ED
@ 3 r R ¢ 1
b 4 -2 1 3
©. 3 S BT
d 4 1 2=3

Which one of the following is NOT
a requirement for photosynthesis ?

(a) Chlorophyll

(b) CO;

(c) Water

(@) O,

In flowering plants, DNA content of
the parent plant gets halved during

(a) Seed germination

(b) Fruit formation

(c) Flower bud formation
(d) Pollen formation

Which one of the following is the
correct sequence during sexual repro-
duction in Angiosperms ?

(a) Egg — zygote — embryo — seed
(b) Embryo — egg — zygote — seed
(c) Egg — embryo — zygote — seed
(d) Egg — seed — zygote — embryo

Which one of the following combina-

tions of events represents the correct

sequence during reproduction in

flowering plants ?

(a) Ovule — fruit; egg — embryo;
zygote — seed; ovary — egg

(b) Embryo — egg; ovary — fruit;
ovule — zygote; zygote — seed

(c) Ovary — fruit; zygote — egg;

- embryo — ovule; seed — fruit

(d) Egg — zygote; zygote — embryo;

ovule — seed; ovary — fruit
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97. & UE AW - 82 9§l i w@ifg

98.

99.

e frfafe & & fre @t @
sfem 8 2
(a) wra-fossa dn gfew

(b) AT G 5
(c) ara ford gfem sm
(d) i efie gean s«

T 3R 369 qRaTfers @io-giormst
F "oy # frafafes =99t w faew
ey -

1. 5 1818 # &l H W §E, THh
IR ¥ ¥ 9 IRUgR 99 W @ b,
=T I WA W ST T AT S
7g firr o

2. Wi # fafim Tyt # e, o,

IR AR Y- anﬁi?-r%
aqgmmwam-m/@%
®/R7?

(a) ¥ 1
(b) ¥ 2
(c) 132 M
(d s, A2

\
S

ARa 6 FH-d g9asig geEr Jie
Frrfexe s wafg wher w
Hfa of ? '
(a) TRl GEENTT FISET
(b) TE GHEHTT Frow
(c) U4l Y9aNig FreT
(d) |radt qEaNig FreET
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100. Siedl yaTeet R =T, TSI, FT

101.

102.

TEATRR i 471 ?
(a) BT wEEdt
(b) W e
(c) &R

(d) HEFeH Fshadt

fooamr gmsa # e W @

et fafafes s w® fEr

sifor .

1. T g e % oftror-ufewd
T § g ar

2. 38 60 ¥ WY iftres Wik wfdifea
3

3. e W T 30 Waq qRe’ i
ea ToWed] & ®9 § & TE §

Fudth o § § H-A1/HH-8 g8

R/%7?

(a) e 1

(b) Ha 2

(c) 1,23R3

(d) Fae 1302

frrfofes & & S-a1 597 w8 =&

g7

(a) WRA # &=der it gfd & S =
=31 TSI TE oW §

(b) Eifae S arTele § wamar Sar
?

(c) TEM™ GDP H ToRM & FNRH &
3t 7.9 v ® :

(d) AT ARG WEGY & HeY @3
g & 9oR R & 2
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97.

98.

The book ‘Nation First : The Golden
Saga of 82 Years’ is the history of
which one of the following organiza-
tions ?

(a) Indo-Tibetan Border Police
(b) Border Security Force
(c) Central Reserve Police Force

(d) Central Industrial Security Force

Consider the following statements
regarding Sanchi and its archaeological
findings : -

1. When Sanchi was discovered in
1818, three of its four gateways
were still standing, the fourth was
lying on the spot where it had
fallen -

2. Animals depicted at Sanchi
include elephants, horses, mon-
keys and cattle Q®

<
Which of the statement&&wen above

is/are correct ? O
Q
O
(a) Only 1 @
(b) Only2 -

(c) Both 1 and2
(d) Neither 1 nor 2

. Which Five Year Plan of India focused

on rapid industrialization based growth
process ?

(a) First Five Year Plan
(b) Second Five Year Plan
(c) Fifth Five Year Plan
(d) Seventh Five Year Plan

101.

102.

"~ 100. Chandimangala, a sixteenth century

text, was composed by

(a) Hema Saraswati

(b) 'Madhav Kandali

(c) Tukaram

(d) Mukundaram Chakrabarti
Consider the following statements

regarding the royal center in Vijaya-
nagara Empire :

1. The royal centéer was located in
the south-western part of the
settlement

2. It included over 60 temples

3. About 30 building complexes at
the site have been identified as
palaces

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(¢) 1,2 and 3

(d) 1 and 2 only

Which one of the following statements
is NOT correct ?

(a) Area wise Madhya Pradesh is the
fourth largest state in India

(b) Homnbill festival is celebrated in
Nagaland

(¢) Gujarat state contribute 7-9 per
cent share to the National GDP

(d) Telangana is situated in the
Deccan plateau in the central
stretch of Indian peninsula
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103. 59 ¥ & fou fafafas & @
H-wt gar eyt § 2
(a) TR Fa1
(b) eTT=E T
(c) weEasl a1
(d) v HaT

T sitg o degm w5 R @ 2
(a) 9%

(b) T

CRESIS

(d) erE

AR i Whnfors fdvarst & aR #
Freafafaa @At w faer $ifto .

1. yEgdE wR o qfmit fig
Hrafiik werfeat g fififa @ e
&t 3R ufest ure fen §

2. R wEIfedl #t gl " @

waq faear AT S \Q®
mﬂﬁmﬁﬁ%aﬁ?—@h-ﬁaﬁr
R/R? NG
(a) &= 1 QQQ\
(b) e 2 N
(c) 132 Mt
(@ qAN1982

frafafea # 3 Ty fiture &
HAMR qael 981 hi9-9 ® Sl gda
gfat & s frerert g stk Al
w3 9 SR Mgl S w0 amhEt
=t frdfe w=dt € 2

(a) a3

(b) IR

(c) WX

(d) @R

104.

- 105.

106.
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107. @ 7eX & IR ¥ Fafufes § @
S| /HT-F HIH g £/ ?

1. @ #Ha fiffa e 7w @

2. W9 TR YA GRR AR 9 WK
& et &

3.6 TR W e wee gem
TR & i e & I 8

A R T e W o R el Sw
gfag ;

(a) ¥ 1

(b) Fae 132

(c) %as 23K 3

(d). 1,2k 3

108, 9t ¥ e fit fer @ s ® A
Ae W TS Ral €| W weW H
feffm i A s adt € 7

1. STeTS &1 3fea u9ed 9l & 3itad
e | e §

2. |re i Hie = Ea wTE gE &
e w7 ¥ afts &

3. SR & 39d U9ed gt & aiEd
i o 9 ©

4. SRS & 3Ed geed g % aitEa
e & SeR ©

T fiu T g W o W oad oW
ﬂﬁT{:

(a) 18R2

(b) 23R 3

(c) .23 4

(d 134
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103.

104.

105.

106.

Which one of the following soils is
ideal for growing cotton ?

(a) Regur soil

(b) Laterite soil

(c) Desert soil

(d) Mountainous soil

Where is Central Institute of Buddhist
Studies situated ?

(a) Leh

(b) Kullu

(c) Almora

(d) Gangtok

Consider the following statements
about physical features of India :

1. The southerm point of the
Peninsular Plateau is formed by
the Nilgiri Hills where the Eastern
and the Western Ghats meet

2. The Cardamom Hills may be
Qnﬁkof the

regarded as a contmu
Eastern Ghats

Which of the statcm g1vcn above

is/are correct ? Q\

(a) 1 only %Q

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Which one of the following is the
narrow belt parallel to the Shiwalik
foothills where streams and rivers
coming from the mountains deposit
heavy materials of rocks and
boulders ?

(a) Tarai

(b) Bhangar

(c) Bhabar

(d) Khadar
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107.

108.

Which of the following statements
about Suez Canal is/are correct ?

1. Suez is a man-made navigation
canal

2. Suez links Mediterranean Sea and
the Red Sea

3. The economic significance of
Suez Canal is less than that of
Panama Canal

Select the correct answer using the
code given below :

(a) 1 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 1,2 and 3

An iron nail sinks in water whereas
an iron ship floats. Which of the

following statements is correct in this
regard ?

1. Average density of ship is greater
than that of the water

2. Average density of iron nail is
greater than that of the water

3. Average density of the ship is less
than that of the water

4. Average density of the ship is
equal to that of the water

Select the correct answer using the
code given below :

(a) 1and2
(b) 2and 3 -
(¢) 2 and 4
(d 1and 4

A - DFTK-F-TAG
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109. ufeieent & fe=fafas & & s=-wr

fomama, fag X ok fog Y & <ftw =gmem
FHTET WioRg WEga Rar § ?

(@ s

N
30
X MW

30

MW

(b) I

N\

3Q

N

© 1Q 1Q

x—VWW_MWW_y

() 1Q 1Q 1Q

M W_NW 5
N

110. 1 Bnm afe amm,g& Ei:c)

TR ¥ we Ry AR A
JadE &7 ¥ RIS

Fawt A afy fi e & weaq 2

(wm i 6 gt vaR & sy

q-Eafa gl i)

(a) Tl YHR & Imau 6 ufy &=
STt

(b) HATHS AW AR ROMCHS AT
SFERT B ST

(c) oiTHs AW wh W g
FUMHSE AN AT &9 F i
Fd @A 2

(d) T FER Ay JFefia w9 ¥ a1y
I @R

- DFTK-F-TAG - A
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111.

112.

113.

m G & U 0 TG Gy
y=ut—% g TR afiq foRa s
STel u T G RO 9 B | ¥ W)
Frisfier T 991 § 7

(d F=-mg

el o Uk st (R 40 cm x 20 cm
x10cm) @ fet ¥ F IR o=
- faafat & @ s @, o
WY (a) 915d H 44T 20 em x 10 cm;
(b) I & W1 10 em x 40 cm; 3R
(c) ured & fam 40em x 20em %I.
FHS & st gRT 3 feufodt # AW &
IR T Y G R FAW: P, Py AR P,
<ufa @ | I T W fe g
Wt &1 SE Fa § ?

() Py>Py>Pp

(b) Py<Pp<Pc

(¢) Py=Pp=Pc

d) P,<Py=P

AT & €Y H HET B FART oK

frafafea # & fom ag =t il
frrsTEEaT § ?

(a) T=
(b) =gt
(c) @
@) efirfm
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109. Which of the following arrangement

110.
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of resistors offers minimum effective
resistance between points X and Y ?

(a)

3Q
! 3Q
X N v
3Q
MW
() G
S ) S
A 0 ;—Y
-, S
© 16 i
x—VWW_MWW_y
@ 1Q 1Q 1 '®
X Y
Ny
NG
What will happe a collection of

positive and tive ~charges are
passed at a high speed. through a
magnetic field which is perpendicular
to the direction of motion of the
charges ? (Assume that both kind of
charges are NOT going to recombine)

(a) Both kind of charges will stop
moving
(b)

Positive charges and negative
charges will separate out

(c) Positive charges will stop but
negative charges will continue

moving uninterrupted
(d) Both kind of charges will keep

moving uninterrupted
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111.

112.

113.

The motion of a particle of mass m is
described by the relation, y = ut —1 g,

where u is the initial velocity of the
particle. The force acting on the
particle is

du
(8) .F =m (-‘;]

(b) F=mg

(c) F=m (%‘y_)

(d) F=-mg

A block of wood (dimensions :
40 cm x 20 cm x 10 cm) is kept on a
tabletop in three different positions :
(a) with its side of dimensions 20 cm X
10 em; (b) with its side of dimensions
10 cm x 40 cm; and (c) with its side
of dimensions 40cm x20cm. The
pressure exerted by the wooden block
on the tabletop in these positions is
represented by P,, Py and P, respec-
tively. The pressure follows the trend

(a) &>PB>PC
(b) Py<Py<Fc
(©) Py=Fp=Fc
(d) Py<Py=F¢
Which one of the following metals can

be extracted using carbon as reducing
agent ?

(a) Zinc
(b) Silver
() Gold

(d) Aluminum

A - DFTK-F-TAG
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114, sieiset faaga & g9y & Feafafas 3
¥ 91 GEl qE & ?

() foemm & o wdx wowwm w9 @
forafa o &

(b) wrarset foemm 6t wfy wamh @
(c) ¥ féeet wog ol &

(d) d W 9 | 99 78 53
R IR e F e @ e
TR HaIa9 €9 ¥ 99w fRar S owedn
t?

(a) FEAqTAA

(b) gIFHRL F9

(c) WHTSH 3rEHa

(d) wdeq 3R dfiaem

mmwmﬁa,ﬁq@@ﬁ%
T v weerElE freld

T ® 7

115.

116.

(d)

DFTK-F-TAG - A
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117. ¥4 & "oy # frafafes & @

HA-TT/H-8 97 a8 2 /% ?

1. e et wfial 3R se aega,
et & SwEm == €, F1 AR
?

2. FEA SgEASET HR e
Tures guifar @

3. Feq WY IR I d@ F G9d
eI ATEY FATAT

4, e, HET-IEEH F wew
Pr-amay ok wqamey @ M
AT ®

v fou U we W W W wE S

gfi

(a) S

(b) Fae 13K 2

(© 1,23K 3

(d 23R4

118. frfafea @t w fmr $ifvm

1. Sifoream & & el 3R st
(efamm) & it @ s &= &
wfeey firet |

2. FElSTE A WId T @G H ATEg
frer @ S % wear wwar W
forerfér w=or & waftg @

3. WEleNE W W4 T ¥ H BA
WEt F W TG R
FAH R FHed gQ fremm &, &
7e it € f5 oo W @
- FHA SIS STt A

I FEAl A ¥ PH-G1/PA-7 FE

R/%7?

(a) 1,233

(b) et 23R 3

(c) Sae 133

(d) S H § HIE T
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114.

115.

116.

Which among the following is NOT
true with respect to colloidal solution ?

(a) Particles are uniformly distributed
throughout the solution

Colloidal solution is homogenous
In nature
They show Tyndal effect

They do not settle down when
kept undisturbed

(b)

©
@

Kerosene and petrol mixture can be
best separated by

(a) Sublimation

(b) Separating funnel

(c) Fractional distillation

(d) Compressing and cooling

As proposed by Dalton, which of the
following symbol represents phos-

horus ?
p K\Q

"® .
"©

D
e

©)
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117.

118.

Which among the following statements
with respect to carbon is/are correct ?
1. Carbon forms the basis for all
living organisms and many things

we use

2. Carbon shows tetra-valency and
the property of catenation

3. Carbon forms covalent bonds with
itself and other elements

4. Carbon forms compounds con-
taining triple and tetra bonds
between carbon atoms

Select the correct answer using the
code given below : s

(a) 1 only

(b) 1 and 2 only

(¢) 1,2 and 3

(d) 2 and 4

Consider the following statements :

1. Terracotta models of the plough
have been found at sites in
Cholistan and at Banawali

(Haryana).

2. There is evidence of a ploughed
field at Kalibangan associated
with the mature phase of the
Harappan civilization.

3. The ploughed field at Kalibangan
had two sets of furrows crossing
at right angles to each other
suggesting two different crops
were grown together in it.

Which of the statements given above
are correct ?

(@ 1,2 and 3

(b) 2 and 3 only

(¢) 1 and 3 only

(d) None of the above

A — DFTK-F-TAG
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119. sfis wify & <km wefifg
TR & aR # fafafea # @ 99-
|1 /HH-8 &9 96l 8/% 7

1. 1779 & snfasFR it 75 & Al
F IW 1 a1, s war g
YT S Ao AR afear erar &

2.1769 # f&E e @
anfersar forg e arex ¥ A fayg
et FAgH TS T B

3.1787 ¥ TUsHZS I TN
afesR ffq T R T oW
SR feft ot vR & wue @
T4 o forg femar s wemar &

¥ few T T = W W wE IR

(b) 1,23R3
&
(¢) Fae 23k 3P

(d) &ae 3

120. fr=fafaa # & 58 wrdig Jommst &
s sr A s s € ?

(a) N.F.IRA. T4
(b) @A Tt
(c) .4t weTEHfaE
(d) ST warg

DFTK-F-TAG - A
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121. Frafofee & @ se & frm =g
i@ #, o @ fislt 9 - e
& Il B ?

(a) wTEhT
(b) sEIX
(c) =RTe
(d) Hea™H
122. frafafea =t wdt . Femgws #
wrafera i ¢
1. =& dfgar
2, A & AT
3. W wifec
4. eregTd}

9 fou U g W W@ W T IW

gfg

TR A g S

1 i Ay e O

()& = 3 =i
L

123. f=fafea & & F9-w, afea oda =
T IETET E & ?
(a) WTSE il
(b) SreH
(c) TStw
(d) T
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119. Which of the following statements 121. Which one of the following Ashokan

about the technological innovations Minor Rock Edicts, contains the
during the Industrial Revolutions are personal name of the king - Ashoka ?
correct ? :
(a) Maski
1. Mule was the nickname for a _
machine invented in 1779, that (b) Bahapur
allowed the spinning of strong and ©)' Bainst
fine yarn.
(d) Sahasram

2. Water Frame, invented in 1769
by Richard Arkwright, made it
possible to weave pure cotton
clothes.

122. Arrange the following in correct
chronological order

1 1. Charak Samihita
3. Power loom, invented by Edmund

Cartwright in 1787, could be used 2. Bharat's Natyashastra
to weave any kind of materials.
3. Sangam Literature
Select the correct answer using the

code given below : Q& ' 4. Ashtadhyayi
(a) 1 and 2 onl %‘Q\Q " Select the correct answer using the
4 & code given below :
\Q‘Zr
(b) 1,2 and 3 @Q PR s ¢ 5
Q
(¢) 2 and 3 only ®b) 2-4-1-3
(d) 3 only c) 4-3-1-2

@ 3-1-2-4
120. Who among the following is known '

as the architect of Indian planning ? 123. Which one of the following is NOT
an example of Fold Mountain ?
(a) VK.R.V. Rao

(a) Mt. Fuji
(b) Sukhamoy Chakravarty (b) Alps )
(¢) P.C. Mahalanobis (c) Andes
(d) John Mathai (d) Rockies
33 A — DFTK-F-TAG
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124. frafafem & & @-dt 9o Se-gar
L
(a) Tfifemten
() femrar
(c) FT=FdrEreq
(d) afarew

125. %G & IWR-gfwr R gdf-ufem
wgs wier (Tfermr) Frafofes # 2
R miw-@ma w2
(@) WoE
(b) FewHE!

(c) warferax
(d) =Tt

126. fava & frafofea steramg &t 3 @ R

127. frafefas & @ S-a1 =97 aft =

(a) SPRI THT T TEIK e ARG
dfeat

(b) TR e wWie AR AR
WA & @ R Ra &

(c) VoW THTT 9 FRAY T8 & 9 |
foa

(d) fireé seqr G = aigE SemE
& IRl W BT @

DFTK-F-TAG - A
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128. fifire. ofr ok =& saRl 3
Frafafen gmt § ¥ fed gw v

gafer & 2

LR @ wEe
2. 8@ @ mwm
3. efemes @ arfadhd
4 faferek ;SR

T Ry ¢ e W @ | g SR
3T :
(@) 4
(®) 3
(€ 2
@1
129. ¥Ra & ufvwdt fagw & wmo o

et ast ¥ anaT frafafea & @
FH-H T H T GG € ?

(a) 19
®) I
(c) ==RT
(@) wuE
130. IR R v & Freafafea gt & A
-1 7w ghfera A & 2
" (a) WERAYR : TS JENT
®) & g aw vEw
(c) WRIel  : WIele SEm
@ TR e ok e 9
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124.

125.

126.

127.
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Which one of the following is an
organic soil ?

(a) Aridisols
(b) Histosols
(c) Oxisols
(d) Vertisols
The North-south and East-west Road

Corridors of India cross each other at
which of the following cities ?

(a) Bhopal

(b) Itarsi

(c) Gwalior

(d) Jhansi

Which one of the following climatic
regions of the world have a typical

characteristic of seasonal rev of
wind ? ‘Q\Q

(a) British type Chma@§
(b) Mediterranean $Q@mn;e
(¢) China type@lmatc
(d) Monsoon Climate

Which one of the following statement
is NOT correct ?

(a) Bokaro steel plant is located in
Damodar river basin

(b) Jamshedpur steel plant is located
on the confluence of Damodar

and Barakar
()

Salem steel plant is located on
the bank of Kaveri River

Bhilai steel plant obtains water
from Tandula reservoir

(d)

E

128.

129.

130.

How many of the following pairs
of specialized agriculture and its
products are correctly matched ?

1. Apiculture Honey
2. Sericulture Silk
3. Silviculture : Forestry

4. Viticulture : Grapes

Select the correct answer using the
code given below :

(2 4
®) 3
) 2
@ 1
Which one of the following crops is
generally Dbenefitted by the rain

caused by western disturbances in
India ?

(a) Rice

(b) Wheat

(c) Bajra

(d) Cotton

Which one of the following pairs of

city and industry is NOT correctly
matched ?

(a) Saharanpur : Paper industry

(b) Chanderi Cotton textile
industry

(c) Bhadohi Carpet industry

(d) Raniganj Iron and steel
industry

A - DFTK-F-TAG
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131. Fre=fofea & & s-wr 9% afd & (c) = & wifs o ® Ik zeh

H‘ﬂﬁ(ﬂv=u+at'ﬂﬁ@ﬂwg; H?ﬁ'laﬁm%
wiel @t Tfimn JRW § IR Wi * (d) =t us faga o o § @ik
A A o ? Taehl W e ®
@ 133. 100 g &1 T el 20 m/s &t =1 Ry
- : W @1’ 3R 50 g 757 F R A
:é/ THR AT R | AR g M e {
Teot R a1 3k geem Men @A F
0 Q) T =g fer 2 smar R | W TwRE W
quid: WA (elastic) WA U, G
®) i s TR 2
ol (@) 10m/s
& 20 m/s
‘&/ ?3 30 /s
' (@ 40 m/s
0 wWa(s)
134. Ffafes & @ S-dt vl
© R 7 wfe w2 Ry
= %QQ T I 71§ 7
g\ &6 (a) Fada
A\Q‘G ) faad=
0 m&%‘ (c) =aferaor
@ (d) gau
_ 135. fomft 5w o Freaforfea 3 @ fraeht
3‘/ amliE s it S wEd § 7
1 1. e
o 2. FTEA
3. Ugfafraw
132. 91g & w=fa @R areht @fy @@ & fag 4. ORI FETA
i asm-arsam adi & 7 A= for T e W WERT W EE SN
() = o fage o & R ok I
T vk e @ o
(b) = T Fife @ R ek sEh © 3
wHia seEd ® ‘ @) 7€
DFTK-F-TAG - A 36
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131. Which one of the following graphs

132.

represents the equation of motion
v=u + at, where all quantities are
non-zero and symbols carry their
usual meanings ?

(a)

&
:
=9
0 ftime(s)

(b)

> /
é
0 time(s)

(© &
E i Q
8 &&\\
g NS
B 0N

(d)

distance (m)

0 time(s)

Which one of the following state-

ments is true for sound waves propa-

gating in air ?

(@) Sound is an electromagnetic
wave and transverse in nature

(b) Sound is a mechanical wave and
longitudinal in nature

37

133.

134.

135.

(c) Sound is a mechanical wave and
transverse in nature

(d) Sound is an electromagnetic
wave and longitudinal in nature

A 100 g sphere is moving at a speed
of 20m/s and collides with another
sphere of mass 50g. If the second
sphere was at rest prior to the
collision and the first sphere comes
at rest immediately after the collision,
considering the collision to be elastic,
the speed of the second sphere would
be

(a) 10 m/s

(b) 20 m/s
(c) 30 m/s
(d) 40 m/s

Which one of the following optical
phenomena supports that the light is
a transverse wave ?

(a) Refraction
(b) Diffraction
(c) Interference
(d) Polarization

How many of the following materials
can be attracted by a magnet ?

1. Plastic

2. Carbon

3. Aluminium

4. Stainless Steel

Select the correct answer using the
code given below :

(@ 1
(®) 2
(c) 3
(d) None

A - DFTK-F-TAG
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136. g Qe & wew A frwfafa
mﬁ‘ﬁf’ﬁﬂ'{?ﬁﬁﬁ
L. @ 3 oy & aftes
gfEds & & & @9 § fo
‘WAl GH i T @
2. SAYHY AREW 7 1953 F S
e # wife Bm & fog wfem
oI B o At
3. Y@M AR & IRumHEET gead
Ted T W qW deEr %
qremgeett 3 # o war o
Sgeh # § TR waw wg /% 2
ofa)y 1
®) 2
(c) 3
(d) =r$ 7

137@@@%1‘13@%«@

& fratew @ waftm

# ¥ F-w /A %/ﬁ ?
1. sefier 3R ¥ 9E "™
wfiret o Wi €, T e &
e s & QF offe ufssdt
AR I U A D g wife
g s €.

2. W% q¥ HeEwWl R o 9%
Fattr & forg o7 wewt @ Faffa

- ST R

2 R T e = @ W T S

If

(a) a1

(b) o 2

(c) 13 23T

(d TA1L,TE2

DFTK-F-TAG - A
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138. wRa & wfwaw @ feafafea & @
FH-|T I9EY ﬁﬁn e wfify &
wafta § 7
(a) 24399
(b) 2437@

(c) 2433%
(d) 24337

AR & FeraEar & an #§ et
Fual w R fifse
1. 98 WRG G&RK & W9H ﬁﬁﬁﬁ
Fftrert ®
2. 38 wateR & fomr gog & fdt
ot we & e @ afeR §

338 W 3 argafe grr forges v
e ®

4. 9% TS § WK H Qi
HIEA BIT ©
S FE F A R o wd
R/% 7
(@) 1
(b) 2
() 3
(@ 4

WRa-aARdey  qft @ g
(2015) & frafafea $=-ar s
woTfaa el gom ?

(a) ufem e

(b) &=

() Prga

(d) STEUITSS Weul

139.

140.
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136.

137.

Consider the following statements
with reference to the Bhoodan
Movement :

1. Vinoba Bhave organized ‘The
Sarvodaya Samaj’ to take up the
work of non-violent transforma-
tion in India

2. Jayaprakash Narayan withdrew
from active politics to join the
Bhoodan Movement in 1953

3. In the wake of the Bhoodan
Movement the first donation of
land was made in the village of
Pochampalli in Telangana

How many of the statements given
above is/are correct ?

(@ 1
() 2
(¢) 3
(d) None

$

Which among the follo &Q state-
ments regarding the el of non-
permanent members. d¢” the United
Nations Secuﬁ%@%ouncil is/are
correct ? §
1. Five members coming from
Africa and Asia, one from
Eastern Europe, two from Latin
America and two from Western
Europe and other states

2. Six members are elected each
year by the General Assembly
for two year term

Select the correct answer using the
code given below :

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

39

138.

139.

140.

Which one of the following
provisions of the Constitution of
India deals with District Planning
Committee ?

(a) 243ZD
(b) 243ZB
(c) 243ZE
(d) 243ZC

Consider the following statements
about Attorney-General in India :

1. She/he is the first law officer of
the Government of India

2. She/he hasa ﬁght to speak in
any House of Parliament without
any right to vote

3. She/he 1is appointed by
President of India

4. She/he is a whole-time counsel
for the Government in the court
of law

the

How many of the statements given
above is/are correct ?

(@ 1
(d) 2
(c) 3
) 4
Which one among the following
states was NOT impacted by the
Land Boundary Agreement Treaty

between India and Bangladesh
(2015) ?

(a) West Bengal

(b) Assam

(c) Tripura

(d) Arunachal Pradesh
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141.480 MW $&lc FAe el
qitarsr el fera # 2
(a) 9Tscis
(b) i
(c) el
(d) e

142. 7% 74 & R #§ frafofes st w
foar fifsrg
7% 7ot feggw wda Woft ¥ freereh 2
R T 1,100 km it wielt gt 70 A
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& e B At # warfea et
R W T ¥ 9 F Fear Y e o
gt et & Sty R iy <@ R
ﬁmﬁmﬁ%ﬁﬁwiﬁﬁq
(a) A
(b) arfs
© ﬁrﬂ K\QQ
@) ¥wT §§~
143. gt I &t gt 1 oy sk
@ﬁ%?ﬁ%@ﬂq@aﬂmaﬁ
e TR IR
T 1 il
(femsfia (vmfer
T 2r)
A. &g yifeh 1. 9Rd 3R
EICIG]
B. Y&q gt 2. WRA 3R
sferenT
C. fim vt 3. wRd 3R
waferan
D. & fsfas 4. 9RT 3R
ZerAfira
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&a

(b)
(©)
@) 3

144, WA # 9 WEHRT & oR ¥ frafafea
mﬁﬂﬁiﬂﬁﬁlﬁ
. @&l & AR, WgH A s
YEER 26 SHEA, 1950 H WRE
- fm
2. W A9 9 qEER e W
-1, AME wF F-11 3R AN
Heh -1 & : _
YUTH wIAt § | -9 /-8 FE
R/R ?
(a) haet 1
(b) Faa2
(¢) 1323
(d TFAL,TE2

145. FgaTsse dERed Jead (CLN) & &R

# frafafaa s w fer 6ifto .

1. CLN a9t & qd&mo &1 &
war & mer suam Afes
TeWT & e foran s waar @

2. ¥R CLN &I U 6956 &

3. CLN wernfass wR - ufuefis
WF$AE TEYE (CEPI) &1 U
R

I9gth FEA A | FE-A1/F-8 el
/% ?

(@) &ad 1

(b) et 23K 3

(c) Fad 132

@d 1,23R3

NN WA

A
(a 4
4
1
1

N W W
NN~
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141.

142.

143.

The 480 MW Phukot Karnali Hydro
Electric Project is situated in

(a) Thailand
(b) Indonesia
(c) Nepal
(d) Bhutan

Consider the following statements
about a river:

This river originates in the Hindu
Kush mountain range and flows into
Hamoun wetlands after covering a
long stretch of about 1,100 km. There
has been serious conflicts between
two neighbouring nations regarding
the sharing of water from this river.
Identify the river from the following :

(a) Mekong

(b) Tarim Q

(c) Indus ‘(\Q
S

(d) Helmand ‘Z)§

N\
Match List]I wi ﬁistll and select

the correct answer using the code
given below the Lists :

List I List 1I
(Bilateral (Participating
Exercise) Country)

A. Garuda Shakti 1. India and
Japan

B. Nomadi

Elc;r;haxl:t: 2. India and

Sri Lanka

C. Mitra Shakti 3. India and
Mongolia

D. D

s 4. India and
Guardian :

Indonesia

41

Code :
A B AC D
(&) 4 - 0233 1
)4 30 1
© 1 L
@ - A §

144. Consider the following statements

145.

about gallantry awards in India:

1. Post-independence, first three
gallantry awards were instituted
on 26th January, 1950

2. The first three gallantry awards
were Ashoka Chakra Class-I,
Ashoka Chakra Class-II and
Ashoka Chakra Class-III

Which of the statements given above
is/are correct ?

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

Consider the following statements
about Centralized Laboratory Net-
work (CLN):

1. CLN works to
which can be
pandemic

2. India is a member of CLN

3. CLN is a part of the Coalition
for Epidemic Preparedness Inno-
vations (CEPI)

test vaccines
used during

Which of the statements given above
is/are correct 7

(a) 1 only
(b) 2 and 3 only

(c) 1 and 2 only
(d 1, 2 and 3
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146, e, @I ¢ GRET WUITel &% &R

frfafaa =t w e fift

1. 38 W TFwa fead siege
(RTRI), STIH & FEART & U
festsm 3R AFS @B (RDSO),
o1 feomea ik g fomar ran @

2. Sféwr @@ g1 e & wlEeit @
gfaursme smmar

3. %99 A 3Rt Jaw-4 (SIL-4)

geh FcaTgfie goAgife woet @

I9dH FIA A ¥ F-A1 /RH-F &
R/%7?

(a) a1

(b) & 3
| (c) Faa 13K 2
(d 1,23R3

&
S

S

147. A1 FrEEEH W Fel o g, W e

o H gHNERI H a1 ?
(a) ITEE
(b)

(c)
(d) s
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148.

149.

150.

WA e, =R e & # siowsdia
fordre & wmamm forn R, frmforfem & &
fermr 21 it e forehe & & s & 7

(a) aféaor srfiet

(b) smeeferan

(c) e

(d) wgsitete

TR fod d gryara Sefier v
e fodig @Ry A Wiy @
oA AR Fidlee & & fo g &

# yrw (@) fa 1w e @ am
TR 7

(a) W

(b) sregfee
(c) Teemayg
(d) ¥Fa:F=
R % A Hg W ¥ whfa
U ENe W AT & e wmrsa §

A1, FdA IR UL F 99 F wdld F
®q | @1 AT 97 ?

(a) T EHTA
(b) U EHTA
(c) difeaw am™
(d) = qTHY
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146.

147.

Consider the following statements
about Kavach, the automatic train
protection system :

1. It is designed and developed by
Research Design and Standard
Organisation (RDSO) in collabo-
ration with Railway Technical
Research Institute (RTRI), Japan

2. The trials of Kavach were facili-
tated by the Southern Railway

3. Kavach is a state-of-the-art
electronic system with Safety
Integrity Level-4 (SIL-4)

Which of the statements given above
is/are correct ?

(a) 1 only
$
() 3 only &
S

d N
(c) 1 and 2 only Q‘Z}

N

The Nova Kakhovka dam, which was
in news recently, is situated in

(d 1,2 and 3

(a) Belarus
(b) Turkey
(¢) Ukraine
(d) Poland

148.

149.

150.

Aaron Finch, who recently retired
from international cricket, was
captain of men’s cricket team of

which one of the following
countries ?

(a) South Africa

(b) Australia

(c) England

(d) New Zealand

Which one of the following is the
name of the dashboard launched
recently by the Reserve Bank of India
to assess and monitor the progress of
financial =~ inclusion by capturing
relevant parameters ?

(a) Pragya

(b) Antardrishti

(c) Divyachakshu

(d) Antahgyan

‘Sengol’, installed in the new
Parliament building of India, was
seen as a symbol of the path of

service, duty and nation in which
Empire of the past ?

(a) Gupta Empire
(b) Shunga Empire
(c) Pandyan Empire
(d) Chola Empire
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